5 PAY LIMIT = 111-6" 1
55" (TYP)— 191035 o 19 ~T % 2183 ~ % 19: e[ e 19-105%"
= " 8 8 5 =
L~ 11 17 1T 11 11 I 11 1T i 1 ] 1T 1 i 1 1 | ~
NORTH 7 EAST WALL FACING EAST ) o g SOUTH
ABBUTMENT 14 SPACES @6-7" = 922 ABBUTMENT
PAY LIMIT = 111-7§"
corqqln . e . 111
55" (TYP)— ” 19113 ] 19 e 21-83 N 19 ] " 19-113
—f =5 8 D 5'— [
L~ 1 i 1 i 1T 1 11 i1 11 1 1T 11 11 11 17 1T 1 ~
"_—JJ._ ke bl bl BN il NN bl otk oo, RUN NEN b il bl _LL<—8"
SOUTH L= o718 WEST WALL FACING WEST . NORTH
ABBUTMENT 14 SPACES @ 6'-7" = 92-2" ABBUTMENT
BILL OF MATERIAL
ITEM #| QTY PART # DESCRIPTION ASTM DESIGNATION
1 34 [0033.90017 [TWD RAIL POST & BASEPLATE ASSEMBLY AS72 Gr. 50
2 2 [0033.91070 [4* X 3* X 1/4* RAIL @ 19'-10 9/16* W/ END PLATES CEAST RAIL) |AS00 Gr. B
3 2 0033.91071 |4 X 3" X 1/4” RAIL @ 19'-11 1/2° W/ END PLATES (WEST RAIL) |AS00 Gr. B
35//&3:? x 13 THREADED ROD, 4 4 1003391072 [4° X 3* X 1/4” RAIL e 19'-0’ AS00 Gr. B
> HEAVY HEX NUTS, : 7 7 7 = 7 )
(1) PLAIN HARDENED WASHER, 2 g gggg 213;3 ;' § 2 ?( i;;' E:it g 18; ?0 19/?16’ W/ END PLATES (EAST RAIL 2283 gr :
1> LOCK WASHER - - r. B
i 7 2  [0033.91075 [2* X 2 X 1/8” RAIL @ 19'-11 1/2° W/ END PLATES (WEST RAIL) |AS500 Gr. B
8 4 [0033.91076 [2° X 2° X 1/8” RAIL @ 19'-0° AS00 Gr. B
- 9 2 [0033.91077 |2* X 2* X 1/8" RAIL @ 21'~8 1/8* AS00 Gr. B
1 10 4 [0033.20069 |[1-1/2* X 1-1/2" FIX. SPL BAR @ 2’ 4” A572 Gr. 50
ANCHOR PLATES silr TP, 85" 11 4 ]0033,90328 |1-1/2" X 1-1/2" EXP. SPL BAR @ 2’ 4’ A572 Gr. 50
" [ 12 4 {0033.90071 |2-1/4” X 3-1/4" FIX. SPL. BAR @ 2’ 4* AS572 Gr. 50
. = % -GI} é ; —67¢" 13 4 [0033.90072 {2-1/4” X 3-1/4” EXP. SPL. BAR € 2’ 4° A572 Gr. S0
10 & } i 255" 14 68 [0033.00295 [3/8" X @ 1/4” X 7 3/8” ANCHOR PLATES A36
g -H-g' _| = | J 15 136 [0042.05813 |# 5/8° X 13° ANCHOR STUDS A449
e’ —aF E: }_é | 16| 272 008015901 |8 5/8” HEAVY HEX NUTS A563
ANCHORAGE DETAIL rlg' 4 on 0\\ 13 17 136 |0080.15911 |# 5/8” FLAT WASHERS F436
s o 278" (4%) 18 136 [0080.15920 |¢ S5/8° LOCK WASHERS ASME D18.2
— I {P $— 2} 10" 19 34 {0080.05560 |? 5/8° X 7 1/2° ROUND HEAD BOLT, NUT, F.W., & L.W. A325, AS63, F436, & ASME D182
ALTERMATE ANCHORAGE TETAIL. SHOWN <THREADED ROD> PER ' ' | J__o o 20 34 [0080.05585 |# 3/4° X 8 1/2° ROUND HEAD BOLT, NUT, F.W., & LW, A325, AS563, F436, & ASME DI8.2
PREVIOUSLY APPROVED JOB [JAMAICA ER BRF 015-1 <23 1&1__| \ L 3, 21 32 0080,05275 (¢ S/8* X 3 HEX BOLT, NUT, F.W.,, & L.W. A325, AS63, F436, & ASME Dis.2
55' R7" Typ. 22 32 [0080.07330 |# 7/8° X 5 1/2° HEX BOLT, NUT, F.W.,, & L.W. A325, AS63, F436, & ASME Dis.2
, 23 34 0033.90068 [1/8" ELASTOMERIC PAD D2240
1 73 } Fabreeka Pod
2| NOTES:
6l 1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.
] 16 aé'—l—T S 2. PRIOR TD GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16”.
o L — ] T 3. ALL POSTS SHALL BE SET NORMAL TO GRADE.
‘ 7, , 4, SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TwO BRIDGE POSTS AND PREFERABLY TO AT LEAST 4 POSTS,
. ‘3j e 3% WPS 3012 I 5, HOLES IN RAILS FOR TUBE ATTACHMENT, MAY BE FIELD-DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH
276" T -1 _[ o 0 PAINT PRIOR TO INSTALLATION.
— u NT —_— 6. BOLTS SHALL BE TORQUED SNUG TIGHT ¢APPROXIMATELY 100 FT-LB,
| 13, 2" 16" (4%) 1= 136'—|l— , |_ ! 7. RAIL TUBES SHALL BE ATTACHED USING 3/4 FULL DIAMETER BODY ASTM A449 CTYPE I> ROUND HEAD BOLTS INSERTED
36 1 4 & — THROUGH THE FACE OF THE TUBE.
3] ¥ Welded to 4'x3’ Tube 8. SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS, A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR
w | 6
10" | ¥16 1Al g %—”— THE NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE
8" | 11 INSTALLED ON THE DRIVER’S LEFT. PAYMENT FOR DELINEATORS SHALL BE INCIDENTAL TO OTHER ITEMS,
| A T~ 15 (2X) 12'1_| % 136'“”‘ m 9. AESTHETIC TREATMENT TYPE SHALL BE APPLIED AS SPECIFIED IN THE CONTRACT PLANS. IF NONE IS SPECIFIED IT SHALL
& 4 I WPS 3012 NOT BE USED. AESTHETIC TREATMENT DETAILED ON THIS SHEET MAY ALSO BE APPLIED ON THE FASCIA SIDE OF THE RAIL,
< 53 O ﬂ 7% IF SPECIFIED IN THE CONTRACT PLANS,
WSS 4°xaxs/16 CENTERED R ) T 10. BRIDGE RAILING SHALL HAVE A RUBBED FINISH IN ACCORDANCE WITH SECTION S01.
ON BASEPLATE %'* - 1%. END OF RAIL DETAIL 11, THIS RAILING MEETS THE REQUIREMENTS FOR A NCHRP REPORT 350 TL-4 SERVICE LEVEL.
5/16"x3-5/8'x3-5/8" CAP: 3, 11 Velded to 27x2’ Tub 12, HOLES FOR MOUNTING DELINEATORS TO BE FIELD DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT
ves ane \ 3., 4 |[ D1  ERONT gided to cixer Tube PRIOR TO INSTALLATION.
(4 = WALL ONLY 13. ALL STEEL COMPONENTS SHALL BE POWDER COATED BLACK AFTER GALVANIZING, COLOR SHALL CONFORM TO FEDERAL
! ! & STANDARD NO. 595, COLOR CHIP NO. 27038
# — 1—’]r/€9|
| ] 87/8" x 2 I
. 4lx3,xl/4,_|r____: sLor Ty : : ITEM #: 900.640 FR Lafayette - MIDDLEBURY, (2014) | SHEET 1 OF 2
g"
130 s el . L APPROVED BY: BRIDGE RAIL DETAILS SHEET
1 ‘41_ [ ] - | | EM13-252, MIDDLEBURY RS 0174 (8)
#+ 4 ] ¢§' x 17/8° LEB' TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
| | Stor ey |l | R|NOQ. | DATE DESCRIPTION BY| R |[NO.| DATE DESCRIPTION BY|
WPS 3002 I | 7" | ! E E
6 | | | | v v
| g U | CERTIFIEDI2RAWN E.P. 37714
§,,JTT \{ g ELDERLEE,INC. 1hy ZFABRICATOR|| CHECKED | DL 3710714
4 3 LASTOMERIC PAD OAKS CORNERS, NEW YORK 14578 APPROVED | . :
E—-Mail: dlong@clderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315-789-6670 Faz:315-789-6615 DRAWING NO.FRL - MIDDLEBURY




$15/16” THRU TUBE & SPLICE BAR, sz>15/]13%Q T;;BS”TXUSBEU%”¢&E<{163”DK<T3; SNll_JDTT \AT/I;lRL(Jl)SEI[:IAEI:E TOP RAIL EXPANSION
Vv QZ;8P|i<21I&/IEAR%EEE%D%MTAS&HENRUTQ TOP RAIL FIXED SPLICE DETAIL HARDENED WASHER & (1> LOCK WASHER (4 PLACES) SPLICE DETAIL
(1> LOCK WASHER (4 PLACESS ’
P ey [ e — e, ————— TR = = = = =— o e e e e 1_"
C_.F"6 o - 6 %1 __1\ R e oy S = el B W A
L [ Y Y _ Y _ XY _ - g \l_ __ _l=_:_=_=_=_:“_;=__=_ _.=_:_=_=_:'_=__=_=l_ _ jl
' - ! n 3||_I
" " ‘ " 5 2_ " "
5 4% _J 3. iss axaxtsa-) 12 o1 4 015/16" X 3" SLOT (4X)
18 4 - - - - -
— — — -—_—__[_ B ]-—.—_.—_I =_l-.-_—_— —_——_[ _=l____[ =—-_]_-.—._—- — — | L ! " __2_"_
aEa i A i 1 — M- 17 ‘ '" HSS 4x3x1/4” 4 4
% | | 4" 3Z / 0m [ I 0Im amn
L =l == ===l L T F=T[FF T F T T = =T~ —F [ — 3 | ‘ (T,
y iif] | SRR | | N | R Nt 31"
| mv_ | 43w S| gn_| 1/4"%x45° TYP. bl ok o sl il o .
' 5 ' 44 44 ' 5 ' [_] [_] E
q'-o" q'-om 5| 43" 43" || 1/4"x45° TYP
?11/16” THRU TUBE & SPLICE BAR, 1'-2" 1'-2"
PS/8"X3” HEX BOLT & NUT
’ BOTTOM RAIL FIXED SPLICE DETAIL S11/16 THRU TUBE & 811/16 X 3° SLOT THRU
W/ (1> PLAIN HARDENED WASHER & SPLICE BAR. #5/8°X3" HEX BOLT & NUT W/ <D PLAIN BOTTOM RAIL EXPANSION
(1> LOCK WASHER <4 PLACES) HARDENED WASHER & (1> LOCK WASHER (4 PLACES) SPLICE DETAIL

1
1 An
2 B4l /@11/16" X 3" SLOT (4X)
4u 11"
! 5n \ 4§n 4_u ! 5u l 1/4"x45° TYP. = F = = BE = —0F = I— __1 — = 0 0 =3 2 1%"
4 4 B e e e
1 |_2" 1 I_2H l | | |
" In On__| n . 1/4"%x45° TYP.
! 5 ' 44 44 5
1 |_2" 1 l_2l|
{TEM #:900.640 FR Lafayette - MIDDLEBURY, (2014) | SHEET 2 OF 2
APPROVED BY: BRIDGE RAIL DETAILS JHEET
RING, TOATE] DESGRIPTION 6] R NG, DATE | DESGRPTION™[&%
E
Y

E

v
Vo ;@ SCER el DRAWN_ [ EP. [ 34
‘f\\&b@ ELDERLEE,INC. %A‘wmf <FABRICATOR|[ CHECKED | D.L. 3/10/14
QY 0AKS CORNERS, NEW YORK 14578 APPROVED

E-Mail: dlong@elderlee.com / epeek@elderiee.com SCALE SCHEMATIC
Tel:315-789-6670 Faz:315-789-6615 DRAWING NO.FR | - MIDDLEBURY




34' PAY LIMIT

HSS 6"x6"x3/16" Kickback
@ 8'-10" w/End Cap

I

e e AR R B

',tr--—c-na-c-l-i@
o"

s =~
JPDST 1 POST 10 POST 9 POST 8 POST 7 POST 6 POST S POST 4 POST 3 POST 2 POST 1
8

POST 14 POST 13 POST 12

S
=
|
|
T
|
|
|
|
|
|
|
|
|
|
|
|
I
|
|
|
|
|
|
|
|
|
|
= |
|
2=
2l
BN
=
|
|
|
|

/ 5
g3 s13] 16X 1
5 “q1d 118 153 1'-5 16
npn — My ey - -——qrg3n ‘ﬁ 1 1-10g ﬁ 1115 ﬁ 1-11g l8 l16 l Lo
B 23 4 s s :
ks il Wity
T S o4 ; o] (o] ham ] o
gr [_—w___,_
1
ii i 1 k5 rF Mmoo
M mm M W Py Mo 1 M RN RN d-Lel Ll i
REREEE RN AN iR AR MR iy j +-h K
U ¥ - L L L) U L
83X5.7 POST @ 63" W/ SPADE | a 4 SPACES @ 20" = 8 ! 2

@ 3'-0" SPACING = 150"

‘ \ ‘ ‘ | e———S3x5.7 POST @ 7 0" W/ SPADE———J }

. @ v : L AT O

@ 20" SPACING (3X) = 6-0"

41+ e 1
Slis 1 M0 ENAR
I——‘ | H Lt ) L
J. 4L L]
1) i

W6x9 POST @ 7'- 0" W/ SPADE ‘

\ I
"AA S / 0.2
| —/2"
{ é SEE ADDITIONAL SHEETS FOR DETAILED VIEWS
GUARD RAIL TO BRIDGE RAIL TRANSITION
WW1 & WW4 (18 (36
K a g A% S
——— I ‘ I I I I X < I | —— m
ITEM #:900.620  GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 1 OF 8
APPROVED BY: Golvanized 2-Raul Box Beam Guardrail Approach Section

EM13-252, MIDDLEBURY RS 0174 (8)

TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13

R[NO. [ DATE| DESCRIPTION BY[ R[NO.JDATE| DESCRIPTION _|BY]

€[ 1| 3/20/14 [REVISED PER 3/18/24 MARK—UP |EF.| E
v

\
AR DRAWN E.P. 37714
()RR CHEckeD | DL [ arona

OAKS CORNERS, NEW YORK 14578 APPROVED | M.V.

E—-Mail: dlong@elderlee.com / epeek@elderiee.com SCALE SCHEMATIC
Tel:315-789-6670 Far:315-789-6618 DRAWING NO.FR L - MIDDLEBURY 2014

FLDERLEE,INC.




BILL OF MATERIALS, WW 1 T
[TEM #| QTY. | COMPONENT DESCRIPTION MATERIAL (ASTM) CITEM # 7) ——
T 3 [0013.57021 [ 1-POST, PUNCH 8 W/SPD @ 637 LG ASTH A572 Gr. S0 o] sk S
3 | 3 [ 001357025 [3° 1-POST, PUNCH 87, & 20° W/5PD @ 63° 1G ASTH AS72 Gr. 50 10 02
3| 2 | 001357060 [3° 1-END POST W/SPD @ 3-8° LG ASTH AS72 Gr. 50 43" 4 3
4 4 WeX9 POST @ 7' W/SPD & 5/8° HOLES @ VARIOUS ASTM AS72 G:. S0 s = _—_3_— =5
5 | 4 3 1-POST, PUNCH 8" & VARIOUS’, W/8X32 SPADE €7 ASTM A572 Gr. 50 )8 -
7| T 003300640 |FiSS 5X5 TUBE SPLICE @27° LG W/ 174’ SAINS AS00 Gr. B / AST2 Gr 50 1 i - -
10 | 19 | 0054.00050 [REG BB SHELF ANGLES € 4-1/27 ASTM A36 2 W BBt Eo S A = 13 P Vm,'i
2 1 HSS S5X5 DBL BEND TUBE zpl. @ 277 16 & 42°ANGLE 2500 Gr. B 7 AS572 Gr 50 PLAN —_ -5 —
13 | 6 | 005400566 [6X6° TRANS, TUBE B/0 € & LG A ; AN —
15 1 6X6" BB @ 9'-0" KI?:K?BAQCK, W/ CAP & 21° ANGLE Asoosgg. %r /BAas FIXED TUBE SPLICE ASSY. | I I 8;'— '
% 1 EXe” BB € 17-1 1/2°, DRILL ¥ CC, W/ 19-¢" RADIUS A500 Gr. B HSS 5" x 5" x 5/16" @ 2' 3" Genterline of @ 7/8"
1 EX6" BB T0P TRANS @ 24'-9 3/4’ LG W/EXP END, & 19-6° RAD, . - , ,
5 e T BT TN € B /T T VAT DL oo KA, et Galvanized Tube in Top & Bottom of V| & NaN I
19 | 18 | 008003355 [3/8° X 7 172’ BOLT, NUT, & & FW A307, A563, F436 Ty, ) . . HSS 6"x6"x3/16" Tube (Typ.) | ~—g 5/8” (2X)
20 | 19 | 008004100 |L/2° x 1-1/2’ BOLT, NUT, & FV A307, AS63, F436 L ey g
21 | 16 | 008004120 [1/27 x 1-1/27 BOLT, NUT, 2 FW & LW A307, A563, F436 4" x 1/4" x 28" Fill Plate e e ! —y O 312X 5 X 3/6" ANGLE
23 | 14 | 008006340 |3/4° X 7-172" BOLT, NUT, 2 FW A32S, A563, F436 (Front & Back) SPLICE TUBE - FIXED 44
24 | 8@ | 008006370 [3/4° X © CARR BOLT, NUT, FW & LW 307, AS63, F436 | — — FRONT-VIEW PLAN VIEW
76 1 FARAPET WALL CONNECTIONS, LEFT-TRAILING [A572 Gr. 50, A6IS Gr. 60, A709 | doosdooqpanibongt EEE— LA VIEW
| ] ] ] !
1 T N Bi (4) 3/4" Fully Threaded Bolts. 7 1/2" Long CITEM # 1O
HARDWARE NOTES WPS 3009 H ! ! ! (ASTM A325, TYPE 1) 2 Washers and a
ITEM # FUNCTION Heavy Hex Nut on each Bolt. Nut to be Finger
19 BOLT RAIL TO SHELF ANGLE CITEM #10) Typ, Tight and the First Thread below the nut to be
20 |BOLT SHELF ANGLE CITEM # 10> TO POST . damaged A.O.B.E.. 4 Bolts at Each Splice.
31 |BOLT BLOCK-OUTS CITEM & 13) 7O HEAVY POST CITEM ¥ & 4" x 1/4" x 26" Fill Plate ELEVATION
23 |SPLICE TUBING CITEM ¥'S 7 & 12), & (4> PER PARAPET WALL CONNECTION (ITEM ¥ 26) Bottom) FIXED SPLICE TUBE ELEVATION
24 |BULT RAIL CITEMS #'S 17, & 18 T0 BLOCK-OUTS CITEM # 19 FIXED TUBE SPLICE ASSY.
1°x7" HOR, SLOT
3/8'x4°x9-1/2" TOP+BOTTOM
SHIM PLATES
WPSH#3016 4-REQ. (2w/SLOT /\ BACK VIEW
Typ, R 1°x7° HOR. SLOT ‘ | L I
HOLE_POSITION CHART TOP+BOTTOM T T )
PLAN VIEW POST LENGTH n 6 "_"_'—'_'_'_'_'_'_'_'_'_'_'_"_'_'_'_'_'_—'——"_——"_'_"'__
|—a" 5 T-11 5/ s kinininival ZZ . t = Jl' _! T T
:I - z i 1/8” 1+ _ P » L ANGLE “B”, PER DOUBLE BEND SPLICE 67 X 6” X 3/16” WELDED/
114" X "X 31 1/2" SPADE : e B P’ (AS DETERMINED BY GROUND SLOPE DROP)
5 =5 7/16° Pl o e e / END CAP, W/CUT CORNERS
10 1'-8 3/4°
5 —{—%" ;s i 1%’ —=
al T g
| {—r 1-1 38"
& |y ! IN@ 1316 HoLE T0P VIEW
J_ l (FOR GALY)
VARIES, | I\—a 5/8" HOLES "i ———t—— ‘ 9
el R ) 7" | s enen 11 3 8
I 37" | _|________________J ‘ 7" ‘
Il | CITEM # 12 — 3
"t 1 8" L\ e e N IE————————. -
] Li | *A* - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE N = — AR
[ \ ACCORDINGLYAWWI1-42°, WW2-28°, WW3-25°, WW4-25* t
| | [ Nsaxs7 “B* - TURN DOWN ANGLE SET BY THE 9° MEASURMENT 7/8" 1/0" |~— 1"
i ] AT THE END OF THE BOX BEAM.
i | (TOP & BOTTOM) (TOP & BOTTOM)
-———l |— - I WPS 3022
i ' — °-WW 1
||\ s | | MITER @ 21°- W % 5/8" HANGIN
h — | MITER @ 14° - WW 2 HOLE FOR GALV
i N | MITER @ 12.5° - WW 3
i — . . CITEM # 15 (TOP & BOTTOMD
) I V20 | MITER @ 12.5° - WW 4
312" 1 ]
i | GENERAL NOTES:
! ! ! 1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF -
| I I T)HE STANDARD SPECIFICATIONS. ITEM #:900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 2 OF 8
_i i_ | 2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB). APPROVED BY: Calvanized 2-Rail Boxr Beam Guardrail App?"oach Section
It ' 3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE EM13-252, MIDDLEBURY RS 0174 (8)
| | | ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
secve e TTEM # S . 4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL R[NO. | DATE [ _DESCRIPTION BY[ R [NO.| DATE | DESCRIPTION _|BY,
I | BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED. EI 1| 3/0/td REVISED PER 3/18/24 MARK-UP |EP.| €
L' u 5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER pin; DRAWN ) Sa
A LUl —w=rew THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE \  pioeriEE vc. BT cheokes | oL oo
FRONT SIDE WPS 3022 CUT" AND WELDED. CURVED RAILING WILL HAVE AN 18" LENGTH ON EACH END OAKS CORNERS, NI YORK 14558 APPROVED | Wiy |
- STRAIGHT TO ACCOMADATE SPLICES. E—Mail:dlong@elderlee.com / epeek@eclderlee.com SCALE | SCHEMATIC
Tel:315—789-6B70 Far S15-789-6615 DRAWING NO.FR L - MIDDLEBURY 2014




PLAN VIEW
—o— .
I :1/4" X 8" X 24" SPADE

i

1
2

CITEM

_|

1k

PLAN VIEW

=
I :1/4"X8"X24" SPADE

# 1)

5
8

CITEM # 25

i+

5
|_ 13 |— '3 5 8
b k3 b py it
i T i 8 _| 2 _| |_ _E%"
8" | | | N\ 13/16* HOLE 8" | | | g 13/16* HOLE -
! Pl «FOrR GaLw) | Iy Pl <rorR GALVY ol '
‘ﬁﬁ . | ﬁ - l 2 [ 1 N\ g 13 16" HOLE
.2 5/8" HOLES 18" 16" | (FOR GALVY)
(hq) TYP. ] (B el ] 3" .
| | I | | | T @ 5/8" SLOTS |
1 1 1 1 (2x)
I | a5 | \S3x5 7 35" | \S3x5 7 i i ! T4 |/ 238"
1l ' 'ﬁ ol Tl - | WPS 3022
| | | PUNCH ONLY- | N\ 5/8" HOLES | 1 ;
IN POST #11 P
B | CITEM 24> il TYP. ] | | 44"+1/8 |
10 ]
I I l | | | | | WPS 3022 |
(9] 1 111 1
H sy If | i N
H ! VT Iyl . 174" [/ 23/8" o | | 17a" |/ 211 \83)(5.7
| | —— I WPS 3022 | I /T I WPS 3022 it |
i .\ 63"+1/8" ' ] .\ 63"£1/8" ' | I l
H | i | it i
il WPS 3022 | ik WPS 3022 I | | I
i | It | | o |
| 4"+1/8" 1/4" 2 3/g"
1} T ) 2 i ! 14" | 2-11 ' I JJi - i
l | | | | | N WPS 3022
i i i i i i FRONT SIDE
1 |/ ) ' 1/ )
—{lt[— | — il |
a1 |1 H 4t g !
_I_ _|.||.|_ R S, 1/4" 2 3/8" -l— LLLL E— LL 1/4" 2 3/8"
WPS 3022 WPS 3022
FRONT SIDE FRONT SID
BILL OF MATERIALS BILL OF MATERIALS
ITEM #]aTY DESCRIPTION ASTH # ITEM #|aTY DESCRIPTION ASTM #
1 DBL TUBE WALL PLATE - 1 X 12° x 25° ASTM AS572 Gr. 50 1 DBL TUBE WALL PLATE - 1° X 12° x 25° ASTM AS72 Gr. S0
10 RAW, 95/8° REBAR @ 24° A613, Gr. 60 10 RAW, 25/8" REBAR @ 24’ A615, Gr. 60
57X & X 5/16° TUBE W/ SLOTS € 1" ASTH 4500 Gr. B 57X 5 X 5716 TUBE W/ SLOTS € 18 ASTH AS00 Gr. B
4 SHIM PL 1/2° X 4° X 17 W/ SLOTS ASTM A36(ASTM A709 Gr. 36)CVN 4 SHIM PL 1/72° X 4° X 17° W/ SLOTS ASTM A36CASTM A709 Gr. 36)CVN
S SHIM PL 1/2° X 4° X 17 (W/0 SLOTS) ASTM A36CASTM A709 Gr, 36)CVN S SHIM PL 1/2° X 4° X 17* <W/0 SLOTS) ASTM A36CASTM A709 Gr, 36)CVN
2‘ 1 YP. 2‘ I YP,
| /® WPS 3016 /@ WPS 3016
wes 303/ 78 E 1* x 4* SLOT, TOP ws ST SN k 1* x 4 SLOT, TOP
& BOTTOM | PROTRUSIONS CAUSED BY WELDING OR & BOTTOM |  PROTRUSIONS CAUSED BY WELDING OR
s ] R A B e AT A B ST e
28 o
2.1" —_ 4 Right Shown’ 21" — 4 Right Shown’
2 Wing Woll 1 = ‘Left’ 2 Wing Wall 1 = ‘Left’
. G i o= - G il o=
= 4 P " ng Wall 3 = * .
“RIGHT / APPRUACH'I m?.S Woll 4 = “LeFts W/ ANGLE RIGHT / APPROACH wng Wall 4 = “Left’ W/ ANGLE
3 —9" T| ol 3 ‘1! ol
1, "TYP. el [2 1 "TYP. - 7 2
/as REBAR <10X) 2 - _”_2)}2333;\73 = r4| l_ T /405 REBAR <10X) 2 -:”" _”—2;&33,\ - 4| |— T
—— o — ] ‘o T - | T
‘ 5 =
A &= 1 ITEM #:900.620
WPS 3037 TYPT 4 |-_ + +__L1' od WPS 3037 TVPT 4 + __——'L1| ol #
S/16' |/ 2-6 3/4° ) S/16" |/ 2-6 3/4* ‘ Uy .
R 5 I IS > '.| APPROVED BY:
1|_0%.. 1—6 |l I 21 1 ; 1_6 I o'
@\ 1‘-55" REF. @\ 1‘~5§“ REF.
" e
1-6 —u N —U N i
ON sy 1-10 ON 110}
T T Vi AT S ] A e e o
1" = 91’ GALV. HOLE @ - 91 GALV. HOLEY @
2X (REF) 2X (REF)
CITEM # 26> 1 CITEM # 26> 1

VIEW

PLAN

e

T,

CITEM # 35

1/4" X 8" X 24" SPADE

PLAN VIEW

i

1/4" X 8" X 24" SPADE

TO BE FIELD DRILLED

) + sl
it :
\g 58"
(4 REQ'D)

ASTM A572 Gr. 50

HOLE POSITION CHART

POST

LENGTH

/16°

1
1'-6 S/16"
1

o] ) )=

/16°

/8

B

Iy
4 3.
\ 4
-
s
HE;
T | 1 .
VARIES,
(PER GHART) !

_Q\——r

- [N\-@ 13 /16" HOLE

\
WPS 3022
> 14" 1/ 2-10
16"
CITEM # 4
FRONT

SIDE

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

(FOR GALV)

W6 x 91 BEAM

WPS 3022

174" 2

WPS 3022
1/4" 2

SHEET 3 OF 8

Golvamized 2-Rail Box Beam Guardrail Approach Section

EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13

DATE | DESCRIPTION

BY

NO.

DATE DESCRIPTION

BY]

3/20/14 |[REVISED PER 3/18/24 MARK—UP

R
EP| E
v

FLDERLEE,INC.

OAKS CORNERS, NEW YORK 14518

TS

RTIFIED

DRAWN E.P. 3/7/14

YCE
ZFABRICATOR|

CHECKED | D.L. 3/10/14

—Mau dlong@elderlee.com / epeek@elderlee.com
Tel:315-789-66

20 Fax.315-789_66185

APPROVED | M.v.

SCALE SCHEMATIC

DRAWING NO.FR L - MIDDLEBURY 2014




FACE 0OF RAIL TO HAVE

if TOP+BOTTEM <TYP ] . MITER CUT FOR
1% TOP VIEW e Rean 19'-6” CONVEX RADIUS HSS OXBXA/1E™ L on | 47/8% HOLE 9'~0° KICKBACKS
ol 7/8° HOLES o 21°
27 [ 4f<op & BoTTOM) TOP+BOTTOM
I 27 I \ i 1 1 ! N
¢ T 1 T T T T 1
| T
9'-10" { 7
11-10" FACE OF RAlL/
13-10"
15-10"
18'-10"
21'-10"
2563 |
@ 7/8 HOLES
. FRONT+BACK (TYP.)
p [ 4 REQ'D
; r i
& —| 1
! 1-10"
e SIDE VIEW
310 CITEM # 18) _—
5-10"
7-10"
©7/8" HOLE
1/2* HOLES FACE OF RAIL TO HAVE TOP+BOTTOM
TOP+BOTTOM (TYP.)
- W Jye HoLES 10F VIEW , RE@,D\ 19'-6" CONVEX RADIUS
o (= []<T0P & BOTTON \ e
o=+ z 4 4 % % ; [
9-10" ! 6"~
11'-10"
13-10"
16-10"
18-10" 1
21-10"
2403
@ 7/8" HOLES
FRONT+BACK (TYP.)
REQD SIDE VIEW WW1 - .
- 2
\ r
. [ |
[} 'l—l |
— 110" ——]
3-10" CITEM & 17>
510"
7-10"
g1
— 17113
14113
13 8117
5-113 L L
2-113/4" 4 192
o TOP VIEW ol
2 r 2
2o )
45" 41— r3"
Ho—é ¢ & $ ¢ $H—p—— &

\251—1/8' HOLE
TOP+BOTTOM
2 REQ'D

FACE OF RAIL TO HAVE
19’-6" CONVEX RADIUS

91-1/8" HOLE
TOP+BOTTOM

HSS 6x6x3/1 6"/

DRILL ¢1/2" HOLES
TOP+BOTTOM
4 REQ'D

2 REQ'D

WW1

FA=

(ITEM # 16>

===y
|
|

THIS LENGTH PAY ITEM 621.30

THIS LENGTH PAY ITEM 900.620

ITEM #: 900.620

ey |-
r

-

- lr%
.$.

|
4

| ! T [
& | i | N
4 I | i_
4 -
| 1 k | |
T Back view o)
(POST SIDE
=¥
i i CITEM
]—1—@\1
.
J_ ! [¥;a7/3"
FRONT VIEW

(RAIL SIDED

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

|
|

13D

| SHEET 4 oF 8

APPROVED BY:

EM13-252, MIDDLEBURY RS 0174 (8)

Golvamized 2-Rail Box Beam Guardraal Approach Section

TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13

NO. [ DATE DESCRIPTION BY| R [NO.

DATE DESCRIPTION BY]

3/20/14 [REVISED PER 3/18/24 MARK-UP |E.P.

R
£l 1
v

E
v
ER

DRAWN E.P. 3/7/14

CHECKED | D.L. 3/10/14

s =
ELDERLEE.,INC. W

) OAKS CORNERS, NEW YORK 14518

APPROVED | M.V.

E—Mail:dlong@elderlee.com / epeek@elderlee.com

SCALE SCH EMATIC

Tel.318-283-6670 Fay.318_789--6615

DRAWING NO.FR L - MIDDLEBURY 2014




34' PAY LIMIT

HSS 6"x6"x3/16" Kickback

@ 8'-10" w/End Cap
‘l
%__.__.__' [:Ij ﬁ 6 6 X I I I I I I —
\ —!—}—en-a—-il \ %
POST 1 POST 2 POST 3 POST 4 POST 5 POST 6 POST 7 POST 8 POST 9 POST 10 POST 11 POST 12 POST 13 POST 14 '
IIAII ______________________ HSS 6“X6"X3/1 6" Rail
_____________________________________________________________________ @ 17'11-1/2" _x
b 3 lu_,__ ------------ Tt T —-- IIAII
kil il T 3T 4 jV
[Tyl ﬁ“"‘"‘“ﬁ "6;}_%" '-6i" '-SE" 1'5§" t 4450 1 E.JII.“ 1 .T= \ %
oz | K ° P few e [ ——— s - — - gy
14" v E’*r I** i**r ' ] ﬁ }
R_ jrmmd) hmd| g— -y SV e ——————
b i e i
b rilh Ak Al - REN RN NN i e b sir s ia el
’—: | R A . .—| r | 7 ‘—, |“ - lSSX‘5:7—PC|)ST@63 WISPARE + e b
e 4 SPACES @ 2-0" = 8" 3" @ 3-0" SPACING = 15'-0"
. _Wéx;_ggggglﬂéoze’% fif\gE ‘ ‘ I——33x5.7 POST @ 7'- 0" W/ SPADE ‘ ‘ ‘
& > B
\4/
o —— [5 [-5 [5 [:El I I T I T I T T I y S
_ CBD —€RI—- -l| \ '® ® ©. ®! \ % "AT AN
1/2"—
(16"
SEE ADDITIONAL SHEETS FOR DETAILED VIEWS N
| ; [5 E] [:E] I I T T T I 2 : I
%'_'—_m_ -i—:)--e!-:—-ll 7 1 uBu_nBu
ITEM #: 900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 5 OF 8

APPROVED BY:

EM13-252, MIDDLEBURY RS 0174 (8)

TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 {MAJOR COLLECTOR), BRIDGE NO : 13

Galvamized 2-Rayl Box Beam Guardrail Approach Section

L318-289_6615

R[NO. | DATE| DESCRIPTION BY| R [NO.] DATE | DESCRIPTION | BY
€[ 1| ¥/20/14 [REVISED PER 3/18/24 MARK-UP |EP.| E
v v
TS DRAWN E.P. 37114
SCERTIFIED -
ELDERLEE,INC. gm SRR  cHECKED | DU 3/1014
Y O0AKS CORNERS, NEW YORK 14518 ';ngi\ézo S“(");’EMAHC
E‘—Ma.u dl @elderlee com eek@elderlee.com
o /. epeck@elderle DRAWING NO.FF L - MIDDLEBURY 2014




1 et B 130097 CONVEX RADILS ,,
-1 & TOP_VIEW k 130°-9” CONVEX RADIUS  Hssexsxis . 9'-0" KICKBACKS
’ _— 6 REQ'D DRILL 97/8* HOLE .
] olv | 7/8* HOLES TOP+BOTTOM e 14
27| [ yfaop” & BoTTOM)
S % 3 % = = % 1
g 3"_’ 10 l / —’l 7"
11-10" FACE OF RAIL
13-10"
15-10"
18-10"
21-10"
2563" |
¢ 7/8" HOLES
g FRONT+BACK (TYP.»
| T ' /[ 4 re@'D .
6'“ F il
T — SIDE VIEW
3-10° CITEM # 18) I
510"
. 7100
) 97/8° HOLE
1/2* HOLES FACE OF RAIL TO HAVE TUP+2BI:|RTETQE,|%
. VIEW  TOP+BOTTOM (TYP) / ”
~ o , 10P VIEW pRaaley 130'=9” CONVEX RADIUS
7/8" HOLES 5
v (TOP & BOTTOM)
2% ﬂ|./- . 1 \ 1 \ 1 1 N L
" ¥ T ¥ T ] T T T T |_|'
9-10" i &~
11-10"
13-10"
15-10"
18710 o ! BILL OF MATERIALS, WW 2
’ el ITEM #| QTY. | COMPENENT DESCRIPTION MATERIAL (ASTM)
4 1 3 [ 001357021 [3° 1-POST, PUNCH &° W/SPD @ 63° LG ASTH A572 Gr. S50
® 7/8" HOLES 2 | 3 | 001357085 [3° 1-POST, PUNCH 87, & 207 W/SPD € 63" LG ASTM AS72 Gr 50
FRONT+BACK CTYP.) 32 [ 001357060 |[3° I-END POST W/SPD € 3-8° LG ASTM AS572 Gr. 50
4 REQ'D SIDE VIEW WW2 . HSS 6x6x3/16" ol 1— 4 4 | 001309001 |W6X9 PUST @ 7 W/SPD & 5/9° HOLES ASTM AS72 Gr. 50
_ 2 . S 4 [ 001357010 [3° I-POST, PUNCH 8° & 20°, W/8X32” SPADE 87 ASTH AS72 Gr. S0
e ~ |4 7 1 [ 0033.00640 |ASS SX5 TUBE SPLICE €27° LG W/ 174’ SHINS AS00 Gr. B / AS72 Gr 50
! ] 10 | 19 [ 0054.00050 [REG BB SHELF ANGLES @ 4-1/2" ASTH A36
8" -|—|r 1 2 1 FASS SX5 DBL BEND TUBE SPL @ 27° LG & 85°ANGLE AS00 Gr. B 7 AS72 Gr S0
0 13 | 8 | 0054.00566 [6X6” TRANS. TUBE B/0 @ 6” LG AS00 Gr. B
- o — 5 | 1 6X6” BB @ 9-0° KICKBACK, W/ CAP & 14° ANGLE AS00 Gr. B 7 A3G
o CITEM # 17 % | 1 6X6" BB € 17-11 1/2°, DRILL 3’ CC, W/ 130'-9° RADIUS AS00 Gr. B
g-10 7 | 1 EX&” BB TOP TRANS @ 24'-9 3/4° LG W/EXP END, & 130'-9° RAD. AS00 Gr. B
510" ® 1 GX6" BB BIM TRANS @ 25-6 374" LG W/EXP END & 130'-9” RAD. A500 Gr. B
7-10" 19 | 18 | 008003355 [378° X 7 1/2° BULT, NUT, & 2 FW A307, A563, FA36
20 | 19 | 009004100 [I727 x 1-1/2” BOLT, NUT, & FW A307, AS63, F436
21| 16 | 0080.04120 [I/2° x 1-1/2° BOLT, NUT, @ FW & LW 307, A563, F436
o 23 | 14 | 008006340 [3/4" X 7-172° BULT, NUT, & FW A325, AS63, F436
17-113 24 | 8 | 0080.06370 |3/4° X 8° CARR BOLT, NUT, FW & LW A307, AS63, F436
14._11%.. 26 | 1 PARAPET WALL CONNECTIONS AS72 Gr. 50, A6I5 Gr. 60, A709
- 8113 HARDWARE NOTES
511y ——————— 10d |- ITEM & FUNCTION
211 3/4" ——— 19 [BOLT RAIL 10 SHELF ANGLE CITEM #10)
— 10%" TOP VIEW % 20 [BOLT SHELF ANGLE CITEM # 100 TO POST
4l 1 g 21 [BOLT BLOCK-OUTS CITEM # 13) 7O HEAVY POST CITEM # 4)
2 | Lo 1 23 |SPLICE TUBING CITEM ¥S 7 & 12), & (4) PER PARAPET WALL CONNECTION CITEM & 26)
& N " g -
P%% b N $ b - —,‘P%"—r 6 24 |BOLT RAIL CITEMS #'S 17, & 18 7O BLOCK-DUTS CITEM # 13)
I
Y _1sqv ITEM #:900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 6 OF 8
1-1/8° HOLE HSS 6x6x3/16" v1-1/8 HOLE ; : g g
+ - -
TOP+BOTTON lLL oo HOLES TOP+BOTTON APPROVED BY: Golvamized 2-Rail Doz Beam Guardrail Approach Section
g REQ'D TOP+BOTTOM 2 REQ'D 2 EM13-252, MIDDLEBURY RS 0174 (8)
4 REQ'D TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
316" CITEM # 16) §$5E99FC§I\?\I/|EXT%A%AIX§ R[NO. | DATE | DESCRIPTION BY[ R[NO.] DATE | DESCRIPTION | BY
€ 1 | 3/0/14 [REVISED PER 3/18/24 MARK-UP |EP.| E
N , ' ' : o=} v v
8" TI'F. - X X - % {““‘”"o-% CCERTRIEDI | PRAWN EP. 3/7/14
'|_‘ N | E‘LDERLEE,[NC 4] <FABRICATOR (A:EPER%I';EEg z_L, 3/10/14
. THIS LENGTH PAY ITEM 900.620 THIS LENGTH PAY ITEM 621.30 | OAKS CORNERS, NEW YORK 14578 SCALE e
E-Mail: dlong@elderlee.com / epeck@elderlee.com CHEMATIC
Tel:315-789-6670 Faz 315-789-6615 DRAWING NO.FR L - MIDDLEBURY 2014




1/72* HOLES

MITER CUT FOR
] 81" TOP VIEW TOP+BOTTOM (TYP) HSS 6x6x3/16™ g
6 REQ'D DRILL $7/8’ HOLE 9'~0" KICKBACKS
1 7/8* HOLES — e 14°
25" — TOP+BOTTOM
27 [ yfcop” & BOTTOM)
R = . % = + % ~+—
6"~ g 9-10" ' / -7
11-10" FACE OF RAIL
13+10"
15-10"
18-10"
21-10"
3
25-62 1
@ 7/8" HOLES
. FRONT+BACK (TYP.)
p e 4 REQ'D
" [ 1}
& T i
! 1-10"
’ o SIDE VIEW
3-10 CITEM # 18) —
5-10"
7-10"
87/8* HOLE
TOP+BOTTOM
1/2* HOLES 2 REQ'D
1 gl TOP VIEW  TOP+BOTTOM (TYP)
2 l%a 2/8° HOLES — 6 REQ D\ .
oy | |- q<T0P & BOTTOW . r
¥ : ¥ % % % % 41—
910" { 6
11-10"
13-10"
15-10"
18-10" |
ot BILL OF MATERIALS, WW 3
ool TTEM #) QTY. | COMPONENT DESCRIPTION MATERIAL <ASTM)
4 T 3 [ 001357021 [3° 1-POST, PUNCH 8’ W/SPD @ 63’ LG ASTM A572 Gr. 50
@ 7/8° HOLES 2 3 | 001357085 |3 I-POST, PUNCH 8°, & 20° W/SPD @ 63° LG ASTM A572 Gr. 50
FRONT+BACK C(TYP.) WW 3 2 | 0013.57060 |3 1-END POST W/SPD € 3-8 LG ASTM AS72 Gr. 50
4 REQ'D SIDE VIEW 3 HSS 6x6x3/16" ol — 4 | 4 | 0013.05001 [W6X9 POST € 7° W/SPD & 5/8° HOLES ASTM AS72 Gr. 50
_— "I 2 ] 5 4 | 001357010 [3° 1-POST, PUNCH ©° & 20°, W/8X32° SPADEL @7 ASTM A572 Gr. 50
P - -4 7 T [ 0033.00640 [HSS S5X5 TUBE SPLICE €27° LG W/ 174’ SRIMS A500 Gr. B /7 AS72 Gr S0
I I 0 | 19 | 0054.00050 [REG BB SHELF ANGLES @ 4-1/2° ASTM A36
& Tk { 2 | 1 FSS SX5 DBL BEND TUBE SPL € 27° LG & 25°ANGLE AS00 Gr. B 7 AS72 Gr 50
T 13 | 8 | 0054.00566 |6X6" TRANS. TUBE B/0 € 67 (G AS00 Gr. B
410" —] 15 | 1 &X6" BB @ 9'-0° KICKBACK, W/ CAP & 12 1/2° ANGLE 2500 Gr. B 7 A36
310" CITEM # 17 16 | 1 &%’ BB € 17°-11 1727, DRILL 3 CC AS00 Gr. B
. 17 | 1 EX6” BB TOP TRANS € 24'-9 3/4° LG W/EXP END AS00 Gr. B
5-10 18 | 1 6X6" BE BIM TRANS @ 256 3/4° LG W/EXP END AS00 Gr. B
710" 19 | 18 | 0080.03355 [3/9° X 7 1/2° BOLT, NUT, & & FW A307, 563, F436
20 | 19 | 008004100 [i/2° x 1-172° BOLT, NUT, & FW A307, A563, F436
21 | 16 | 008004120 [1/2° x 1-1/2° BOLT, NUT, 2 FW & (W A307, AS63, F436
oA, 23 | 14 | 008006340 [3/4° X 7-172° BOLT, NUT, & FW A3cS, AS63, F436
171135 24 8 | 0080,06370 [3/4° X 8’ CARR BOLT, NUT, FW & LW A307, AS63, F436
1 4'_11_2." 26 | 1 PARAPET WALL CONNECTIONS A572 Gr. 50, AGIS Gr. 60, A700
- 8._11%.. HARDWARE NOTES
5-11%" 1ol |- ITEM # FUNCTION
f—— 211 3/4" — TDP \/IEW 2 1 19 BOLT RAIL TO SHELF ANGLE CITEM #10)
- 103" A 20 |BOLT SHELF ANGLE CITEM # 10> TO POST
41.. _,__I R 21 BOLT BLOCK-QUTS CITEM # 13> TO HEAVY POST CITEM # 4)
2 rs" | 23 |SPLICE TUBING C(ITEM #'S 7 & 12y, & (4) PER PARAPET WALL CONNECTION (ITEM # 26)
[—% ¢ ¢\ $ ¢ 7b7b_| r 6 24 |BOLT RAIL CITEMS #'S 17, & 18 T0 BLOCK-OUTS CITEM % 13)

\Q)l ~1/8" HOLE
TOP+BOTTOM

HSS 6x6x3/1 6"/

1
91-1/8" HOLE /
TOP+BOTTOM

WW3

2 REQ’D DRILL #1/2" HOLES 2 REQ'D
TOP+BOTTOM
3/16" CITEM # 16) 4 REQ'D
W T +
6 : l ‘ .

|
I THIS LENGTH PAY ITEM 900.620

THIS LENGTH PAY ITEM 621.30

IR

ITEM_t: 900.620

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

| SHEET 7 OF 8

APPROVED BY:

Golvamized ¢-Raal Doz Beam, Guardml Approach Section

EM13-252, MIDDLEBURY RS 0174 (8
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR) BRIDGE NO : 13

Tel:315-789-6670 Fqz.315-7289_6615

R|NO. DATE | DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
E[ 1| 3/00/14 [REVISED PER 3/18/24 MARK=UP |EP.| E
v \4
ERTIFIED DRAWN E.P. 3/7/14
ELDERLEE,INC. QG]HD <rasricATOR|| CHECKED [ D.L. 310714
OAKS CORNERS, NEW YORK 14578 ng,fﬂ‘éw shér\i/EMAﬂc
E-Mail: dlong@elderlee.com eek@elderlee.com
el / ep DRAWING NO.FR L - MIDDLEBURY 2014




BILL OF MATERIALS
1/2* HOLES ITEM #|aTY DESCRIPTION ASTM #
MITER CUT FOR
gl TOP VIEW TOP+BOTTOM <TYP.) HSS 6x6x3/16" 9'-0" KICKBACKS
2 — =" 6 REQ'D DRILL 97/8" HOLE — T
1 7/8" HOLES e 14° 1 DBL TUBE WALL PLATE - I° X 12’ x 25 ASTM_AS72_Gr. 50
25" — I— <TOP & BOTTOMD TOP+BOTTOM 10 RAW, #5/8° REBAR @ 24” 615, Gr. 60
57 X $5* X $/16° TUBE W/ SLOTS e 18’ ASTM AS00 Gr. B
77 | \ | I i 1 AN 4 SHIM PL 172’ X 4° X 17° W/ SLOTS ASTM ASG(ASTH A709 Gr. 36)CVN
T T ! T T v ! 3 5 SAIM PL 172° X 4° X 17° (w70 SLOTS) ASTM A36(ASTH A709 Gr. 36)CVN
e gd | 910" { / — 7 PROTRUSIONS CAUSED BY WELDING OR TYP, I 2
110" FAGE OF RALL et S R NPT R T i
13-10" 4 TapP S716T7 \WPS 3019
15-10" e
18-10" —
WW4
25'63" - 6‘—8'g ®/
6°-g’ !
Right Shown’
WW 4 Wing Wall 1 = “Left’
Ving Wall 2 = ‘Right’ |'LEFT / TRAILING""
¢ 7/8" HOLES Ving Wall 3 = ‘Right’ -
FRONT+BACK ¢TYP.) Wing Wall 4 = ‘Left’ W/ 6° 8 ANGLE "
g ) —9 — —
s : 4 REQ'D 1 [2% 1 - &yp. e
é‘;" - 1l T = P 4 02 /us REBAR <10X)
1T+ F-—-—-——-j__
g — 73 4 =
T SIDE VIEW 2 <1,
8-10 CITEM # 18) - 1|01,,-l——+ +m 7 TTVPHM/
fre 05 - ] /576 |26 3/4°
o 10" 2-1" I A B 1ol
7'-10 REE. 1._5§.. 2
G IR e
T === ===
7/8" HOLE 1-103 L® I ——— |
TOP+BOTTOM S
1/2* HOLES 2 REG'D i
~ gl TOP VIEW  TOP+BOTTOM (TYP.) 17 GALV. HOLE -1
2 7/8" HOLES 6 REQ'D 2X (REF)
oy | |— A]<TOP & BOTTOM) ' ¥ 1 CITEM # 26)
= T 3
¥+ % 1 + + % + 4
9-10" | &=
11-10"
13-10"
15-10"
18-10° ' BILL OF MATERIALS, WW 4
PR 2110 " TTEM & QTY. | COMPUNENT DESCRIPTION MATERIAL CASTM)
2497 1 3 | 0013.57021 |3’ I-PUST, PUNCH 8° W/SPD @ 63’ LG ASTM AS72 Gr. 50
@ 7/8" HOLES 2 3 | 0013.57025 [3° 1-POST, PUNCH &°, & 20° W/SPD @ 63’ LG ASTM AS72 Gr. 50
FRONT+BACK (TYP.) 3 2 | 0013.57060 [3’ I-END POST W/SPD @ 3-8 LG ASTM AS72 Gr. 50
4 REQ'D SIDE VIEW WW4 HSS 6x6x3/16" ol 7 7 | 0013.09001 [W6X9 POST @ 7' W/SPD & 5/8° HOLES ASTM A572 Gr. 50
e 103" |— ; 5 4 | 0013.57010 [3° I-POST, PUNCH 8 & 20°, W/8X32° SPADE @7’ ASTH AS572 Gr. 50
3" - 4y 7 1 {0033.00640 |iSS 5X5 TUBE SPLICE @27° LG W/ 1/4 SHINS AS00 Gr. B 7 A572 Gr 50
L [ 1 10 | 19 | 6054.00050 [REG BB SHELF ANGLES € 4-1/2" ASTH A36
6 TI i 12 | 1 FSS 5X5 DBL BEND TUBE SPL @ 277 LG & £5°ANGLE AS00 Gr. B / AS72 Gr 50
13 | 8 |0054.00566 [6X6° TRANS. TUBE B/0 € 6’ LG AS00 Gr. B
10 5 | 1 EXE6’ BB @ 9-0° KICKBACK, W/ CAP & 12 1/2° ANGLE AS00 Gr. B /7 A36
o CITEM # 17 % | 1 6X6' BB @ 17-11 1727, DRILL 3’ CC AS00 Gr. B
8-10 17 | 1 6X6" BB TOP TRANS @ 24-9 3/4° LG W/EXP END & 6° & ANGLE AS00 Gr. B
510" 8 | 1 GX6" BB BIM TRANS @ 25-6 3/4° LG W/EXP END & 6° 8 ANGLE AS00 Gr. B
7-10° 19 | 18 | 008003355 [8/8° X 7 172’ BOLT, NUT, & 2 FW 7307, A563, F436
20 | 19 | 008004100 [1/2° x 1-1/2° BOLT, NUT, & FW A307, A563, F436
21| 16 | 008004120 |I/2° x 1-1/2° BOLT, NUT, @ FW & LW A307, A563, F436
o 23 | 14 | 008006340 [3/4° X 7-1/2° BOLT, NUT, 2 FW A32S, AS63, F436
17113 24 | 8 | 0080.06370 [3/4° X ©" CARR BOLT, NUT, FW & LV A307, AS63, F436
1 4._11%.. 26 | 1 PARAPET WALL CONNECTIONS W/ 6° 18’ ANGLE AS72 Gr. 50, AGIS Gr. 60, A709
3 8'-11%" HARDWARE NOTES
5-1137" 10%-- - ITEM # FUNCTION
—2"11 3/4" ————| 19 [BOLT RAIL TO SHELF ANGLE CITEM #10)
- 10%" TOP VIEW 1 20 [BOLT SHELF ANGLE CITEM # 10> TO POST
1. _H " 21 BOLT BLOCK-OUTS CITEM # 13> TO HEAVY POST CITEM # 4
2 £3" | 23 |SPLICE TUBING CITEM #'S 7 & 12), & (4) PER PARAPET WALL CONNECTION CITEM # 26)
& : N " 7 -
E_%Q(;( $ ¢\ b b id M—r 6 24 [BOLT RAIL CITEMS #'S 17, & 18 TO BLOCK-DUTS CITEM # I3
]
\431-1 /8" HOLE S e / #1-1/8" HOLE / ITEM #:900.620  GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 8 OF 8
XOX + —_ y
TOP+BOTTOM , TOP+BOTTOM APPROVED BY: Golvamized 2-Rail Box Beam Guardraal Approach Section
2 REQ'D DRILL #1/2* HOLES 2 REQ'D WW4
TOP+BOTTOM EM13-252, MIDDLEBURY RS 0174 (8)
4 REQ'D TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
311" CITEM # 16) R[NO. [ DATE[ DESCRIPTION BY] R[NO.[ DATE | DESCRIPTION _|BY
E| 1 3/20/14 [REVISED_PER 3/18/24 MARK~UP |EP.| E
= ==t v v
N 1
6" - — ‘ - - - — ] gﬁm% SCERTIFED|2RAWN E.P. 317114
‘|_| | ELDERLEE, ]'NC Y < FABRICATOR (A:;IPERCOKVig ’31|;/ 3/10/14
. THIS LENGTH PAY ITEM 900.620 THIS LENGTH PAY ITEM 621.30 | OAKS CORNERS, NEW YORK 14578 SeAlE o :
E-Mail: dlong@elderlee.com / epeek@elderlee.com 5 FF?TEMHA;EEEBURY S
o - 2

Tel:315-789-6670 Faz: 315-789-6615 DRAWING N




WELDING PROCEDURE SPECIFICATION

PQR ELDERLEE #3
Material Specification A572 TO A572
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC ELECTRODE POSITIVE
Polarity REVERSE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
' WELDING PROCEDURE .
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
/16"
FPUST TO BASE PLATE

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3002 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE#3

Material Specification A500 GR B
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL
Filler Metal Specification Ab5.29
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min
+ WELDING PROCEDURE .
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12 - 3/16"~3/8"
TO TO TO
269 23 10

WWB

UIVi-F

FT1

JL@

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

Revision No.

3007

Contractor
Authorized By
Date

Elderlee, Inc.

RANDY SCOTT




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification A709 TO A500 GR B
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CO 2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment D1.5

Preheat and Interpass Temperature D1.5

Postheat Temperature NONE

Heat Input Min Max

* WELDING PROCEDURE.

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 1/16 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
1747

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3009 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




Material Specification
Welding Process
Manual or Machine
Position of Welding
Filler Metal Specification
Filler Metal Classification
Flux

Shielding Gas

Single or Multiple Pass
Single or Multiple Arc
Welding Current
Polarity

Welding Progression
Root Treatment

Preheat and Interpass Temperature

Postheat Temperature
Heat input

WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3
ASTM-A500-A53-GRADE B TO A36

FCAW-G

SEMAUTOMATIC

1G

A5.29

E81T1-Ni1C-JH4

N/A

Co2 Dew Point -40DEGF  FLOW RATE 50 CFH

SINGLE

SINGLE

DC

REVERSE ELECTRODE POSITIVE

STRINGER

PER D1.5

PER.D1.5

NONE

Min Max

' WELDING PROCEDURE

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

L/8"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

3012

Contractor Elderlee, Inc.

Revision No.

Authorized By RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification ASTM A572 GR. 50
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment CLEAN PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature NONE

Heat Input Min Max

* WELDING PROCEDURE .

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
o/ 167

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3019 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION

Material Specification ASTM A36-08

Welding Process GMAW

Manual or Machine SEMIAUTOMATIC/ROBOQOTIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.18

Filler Metal Classification L-56 LINCOLN

Flux N/A

Shielding Gas 90% ARGON /10% CO2 Dew Point -40DEG F Flow Rate 45CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE

Welding Progression STRINGER

Root Treatment PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature NONE

Heat Input Min Max

+ WELDING PROCEDURE .

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
.045 190 22 19
Variable LIMITS 171 20 17
TO TO TO 8"
209 24 21 i——

.

=]
1/74°% B*x 24"
SPADE

1747/ 2-3/8"

——

3 WELDS EA, SIDE
@ EQUAL SPACES

IE__

|
|
|
|
|
i 14t 2
I
|
|
|
|

174V 2-3/8°

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3022 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 3/20/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification ASTM A572 GR. 50 CVN A500 GR B
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A
Shielding Gas CcO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
: - WELDING PROCEDURE.
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
2/16"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3037 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




